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 Conditional statements in Matlab 

 Loop statements in Matlab 
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r = 2 

r = 3, b=-1 

x=1; 
y=-4; 
r=1; 
b=0; 
if (x>0 & y<3) 
 r=3; 
 b=b-1; 
end 

Syntax 
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 Write a function that has two arguments and returns a value which is equal to 

the addition of both arguments.  

 This function checks whether both arguments are scalars:  

 If both arguments are scalars, the function performs the addition;  

 Otherwise, it displays a warning message and returns without attempting 

to perform the addition.  

Example: 
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r = 2 r = 3 

Syntax 
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r = 2 r = 3 
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Syntax 
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Note that even though condition y<-2 is 

true, the command r=3 is not executed 

r = 2 r = 2 
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The term “expression” here can be either a scalar or a string character.  

Syntax 
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y = 0.1 

Suppose that we would like to convert 10 cm to meters. 
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The expression case {'km', 'kilometer'} means that the command 

y=1000*x; is evaluated when units variable is equal to either 'km' or 

'kilometer'. 
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 The loop stops executing the commands when the value of the iteration 

Variable is greater than the final value. 

 

 

Syntax 

 The for keyword is used to run a piece of code for a specific number of 

times. 

Where .  approximates down a real number toward the nearest lower integer 
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 Matlab will not execute the commands inside the loop since the number of 

iterations is negative. The value of ix is [ ] i.e., empty matrix 
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The number of iterations of a for loop = 
−6−6

−2
+ 1 = 6 + 1 = 7 

The values of iteration variable are 6, 4, 2, 0, -2, -4, -6 
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You can follow the execution of the program on a step-by-step basis using 

the debug tools available in Matlab to check the results for each iteration 
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Number of iterations of outer loop 𝑁1 =
final value1−initial value1

increment1
+ 1 

Number of iterations of inner loop 𝑁2 =
final value2−initial value2

increment2
+ 1 

Number of total iterations of nested loop N = 𝑁1xN2  

m: Number of rows 

n:  Number of columns 

Syntax 
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of Example 19 

 It is just an explanatory example on nested for loop 

 Actually, we don’t have to use for loops to sum elements of array. 

 We can use the following command directly: sum(sum(V)) 

 

Try the two methods and check the time 

 

• Nested for loop is useful in many other applications 
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Answer 
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 The continue keyword passes control to the next iteration of the 

for loop in which it appears, skipping any remaining statements in 

the body of the for loop. 

Answer 
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 The break keyword terminates the execution of for loop. 

  In nested loops, break exits from the innermost loop. 

Answer 
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 Matlab executes the commands inside the while loop as long as 

statement remains true. 

 With r = 16 (on the third iteration), the statement (r <10) is now false. 

 Matlab therefore terminates the while loop. 

 The command r = 2*r in the loop body is therefore not evaluated and the final 

value of r remains at 16. 

Syntax 
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 When the statement (r == 8) is true, the two commands in the body of the if 

statement are now evaluated. 

 The command r = r-1 is therefore evaluated. The new value of r is 7. 

 Matlab then executes the continue command, passes control to the next iteration 

of the while loop, and skips the remaining commands in the body of the while 

loop. 
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 When the statement (r == 8) is now true, the two commands in the body of the if 

statement are evaluated. 

 The command r = r-1 is therefore evaluated, The new value of r is 7. 

 Matlab then executes the break command, and terminates the execution of while 

loop. 
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Answer 

Final results after executing the loop: 

f = 

     0     1     1     2     3     5     8    13    21    34    55    89 



1) Fixed point notation:  

e.g 1.2345, -100.5243 

2) Scientific (floating point) notation:  

e.g 1.2345x109 can be expressed as1.2345e + 9 
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mantissa exponent 

Examples 
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